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FfeTRaa 7311 1 €qae igq R ST Ter T ;

(i) SEATH-UAH37IHE | Gt I AHATH B |

(ii) IH-UAB: TSI H [q9Iod 8 — WIS F, W, M, 9,573 T |

(iii) EUE & — T G&IT 1 8 20 TFaecdid TR & ¥ 8 | TdF T 1 SFH H 3 |

(iv) T@UE @ — T G 21 § 24 31 TY-ITT JHR & J97 & | T T 2 3l H18 | 39
1 1 IR 40 I1531 § 3714 T8 for@n 1 =1eq |

(v) @UE T — T GG 25 § 29 T3 TR & 7 8 | TI% T 3 371 &1 8 | §9 391 &1
3T 60 37531 G 3T1eF T8 foran 1 A8 |

(i) WIBY — J9 G&I71 30 G 33 -39 TR & G971 & | I T34 5 3ihl F1 &8 | 59 I91 1
I 120 sl G 371k & for@r sir=r =nfau |

(vii) TUE & — I3 &I 34 G 36 FT/FIa-3eid I97 8 577 i U397 8 | Iedoh T3
4 HBFTE

(viii) U & — Y97 G&IT 37 HHIH HIVA-3RT I3 8, 15799 & 97T & — 87 () 38/
(2 %) 3R 37 (@) A (3 37%F) | I F FeT 5 3F 3 |

(ix) 3G% 3R, &IH 3 T givaTera wienfear & forg foF a9r gAfad 37fs smemia J91 &
T R Qe 379 T 1537 71 & | 39 Te1 o IR halel groanera gliensft g ford |

QUg &H
[CREETEIER L) (20x1=20)
1. Feafafed & & SR I v d@foam i stred! sTgEt § it @ 2 1
(A) el B) wTh
(C) TSI (D) dfus
2. 9Rq o F=fafad & @ forg oo gfeed sreor 1 o of @ 8 2 1
(A)  TRUTTeRT B) foam ufee
(C) TSTGWT (D) =arTetsRT
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General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 37 questions. All questions are compulsory.

(i) Question paper is divided into six sections — Section A, B, C, D, E
and F.

(iti) Section A - Questions no. 1 to 20 are Multiple Choice type questions. Each
question carries 1 mark.

(iv) Section B - Questions no. 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed
40 words.

(v)  Section C - Questions no. 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed
60 words.

(vi) Section D - Questions no. 30 to 33 are Long Answer (LA) type questions. Each
question carries 5 marks. Answer to these questions should not exceed
120 words.

(vii) Section E — Questions no. 34 to 36 are Case/Source-based questions with three
sub-questions. Each question carries 4 marks.

(viit) Section F - Question no. 37 is Map skill-based question with two parts —
37(a) from History (2 marks) and 37(b) from Geography (3 marks). This
question carries total 5 marks.

(ix) In addition to this, NOTE that a separate question has been provided for

Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired candidates

only.
SECTION A
(Multiple Choice Questions) (20x1=20)

1. Which one of the following languages is included in the Eighth Schedule

of the Indian Constitution ? 1

(A)  Bhojpuri (B) Magadhi

(C) Rajasthani (D) Tamil
2. In which one of the following organs of India are women taking

advantage of reservation ? 1

(A)  Municipality (B) Legislative Council

(C) Rajya Sabha (D) Judiciary
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3. T=fcifgd # @ wet gaferq g =1 == hifer
(A) wEadigst - fRraw
(B) wHedg=t — wfaeer
(C) wwadigEr - gfoEm
(D) GHadi gl — =AU

4. Tmfafed § @ F9-a1 FoF Afies wamar o TefRid w2
(A)  AfEETSA o 7l 1 Hod TeNT o 7a o 7T ¥ AT 8T |
(B)  wfearrstl ol o o el dep | T |
(C) &N sl FAfereh SRR T LT |
(D) &SI Ud AISATAT Sl G AR T& AT |

5. VIR sl Iciy AT § YU 8 TSHITdeh gl Sl (HHfAiad § 8 -8 S T
AT a7 o T § 2 e U forehed i =R I |

I« ot erifaes gt & fore st e s by stfamiar 8 |

II. o7 ot gat ® ueh-forers ufear gewt i stfamiar 8 |

L 7 oft Tetfren gt o fore wimefies =T s i stfameiar & |

IV. e 90 gRT 9t SEfieaml sl =Imae™ § = 1 WHAT hl SITehRT 3 sht
FAfaEar 8T |

forepea .

(A)  Faa L, I1 R III |t 8 |

(B) Fadl, IIMWIV @)

(C) Faa L, III IV G g

(D) Fad II, I AR IV TEr |

6. Tmfafed 4 @ #-81 g ficien § e ¢ ?

(A)  afe-wTet (B) fowc-wrdt
(C)  de-wTst (D) SFUS-aT
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3. Choose the correctly matched pair from the following : 1
(A)  Concurrent List — Education
(B)  Concurrent List — Defence
(C)  Concurrent List — Police
(D) Concurrent List — Trade
4, Which of the following statements represent gender equality ? 1
(A)  The value of women’s vote is more than that of men.
(B)  Restricting women to household chores.
(C)  Providing more rights to men.
(D)  Providing voting rights equally to men and women.
5. To reform the party system, which of the following tasks have been made
compulsory for the political parties ? Choose the most appropriate option. 1
I. It is now compulsory for all the political parties to file income tax
returns.
II. It is now compulsory for all parties to have one-third women
candidates.
III. It is now compulsory for all the political parties to hold their
organisational election.
IV. It is now compulsory for all candidates to disclose information
about pending criminal cases against them through affidavit.
Options:
(A)  Only I, IT and III are correct.
(B)  Only I, IT and IV are correct.
(C)  Only I, III and IV are correct.
(D)  Only II, ITI and IV are correct.
6. Which of the following group is in majority in Sri Lanka ? 1
(A)  Tamil-speakers (B) Sinhala-speakers
(C)  Telugu-speakers (D) English-speakers
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7. =@ w e § | ¥ st (A) ot FR0 (R) § 1 T el v afew ok
e foehed T =9 HINT

ST (A) :  ¥TQ ¥ S T I AT ST 3 UTH Y10 HLaMT 8ra 2 |
FRO(R) ;WA H A TSHITAe Sl bl SR IS g JeH HLdi 2 |
fererew :

(A (A) 3R (R) IHHETE 3 (R), (A) I H&l AT |

(B) (A) ¥R (R) 3HI €& 8, W (R), (A) hl Gl AT 78T © |

(C) (A "Ee, wq (R) T2 |

(D) (A) Ta e, W (R) "ET2 |

8. N U FIculeh oW ¥ GefUq Aiehe U TT & | 37 AThel T TSI HIT 7R

3% A feu MU v @1 S fafen
g Fol SHEEd | HacT ufkafa
7 QT 8 99 sht AT 1200 1000
14 7T 15 9 st 1Y 1000 800
ool 2200 1800
TH I % 14 TAT 15 T4 o 7Y 31 h1 IuReeAal Shera 2l
(A) 90 vfaera (B) 80 ufera
(C) 70 wfaera (D) 60 Jfera
9. fyafaRad fRivaret & mam w g it vgae Fifse oK w=t fommed &1 <=
Fifse
. T &7k o1 37T 1Y IS HETEAT 2 |

. 39 &57h T TTiHcd Ueh STk IT U1 o BT A BT 2 |
. ZTeT 3T o TS 39 8575k Shl ISR 2 |

IECTG I

(A) TEHN &h
(B) Y& &5k
(C) GTdSIe &k
(D) fsft &rep
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7. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option : 1

Assertion (A) : Every party in India has to register with the Election
Commission.

Reason (R) : The Government provides election symbols to all political
parties in India.

Options:

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A)1istrue, but (R) is false.

(D) (A)is false, but (R) is true.

8. Data related to an imaginary country is given below. Study these data
and answer the question that follows : 1

Age Total Population | Net Attendance
7 and 8 years of age 1200 1000
14 and 15 years of age 1000 800
Total 2200 1800

The attendance percentage of this country of the age group of 14 and
15 years is .

(A) 90 percent (B) 80 percent

(C) 170 percent (D) 60 percent

9. Identify the sector on basis of the following characteristics and choose the
correct option : 1

. The objective of this sector is to earn profit.
o This sector is owned by a person or company.
o Tata Iron and Steel is a example of this sector.

Options:

(A)  Cooperative Sector
(B)  Unorganised Sector
(C)  Public Sector

(D)  Private Sector
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10. 3NU=E &5 ¥ RO AT R AEH Tl g 2 Fefefad wron =t ufgr 3t gew

3R forehed 1 =9 HIT

L.

slohl hl SUSTeYdT

II.  SRUTYR 3 IUaTsdar

III.  ROT shl sl Ue STfeet Ufsham

IV.  Romeff &t STTeehdr

IECTG I

(A)  Faa L, II I FeT 8| (B) Faa L, III IRV T
(C) @ad I, II IV F & | (D) Faal, I ATIV g g

11. = foerre fure s yerrer fore e gry foram ST @ 2

(A)
(B)
(&)
(D)

Torear saTUT wITeA
T $eETEd

. o [
Ao T T9hTH hIdshH

Torva Tareey gt

12. foum &t yg=me HINT |

(A)
(B)
(&)
(D)

fégear seped fafies
TRt TS fefies
féqear gfedten forfies

TR 8ol SATFeehed [l

13. faa v 1 gfd & foe @&t e @1 == il

FTh I g foreeft sara 31T farer o 3retereht shi g Y ufskar

ST ST 2 |
fereheT

(A) AR
(B) FEfa@w
(C)  3RI
(D)  3T=ieRToT
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10. Why is it not easy to get loans from the formal sector ? Read the following
reasons and choose the most appropriate option : 1

I Availability of Banks

II. Availability of Collateral

III. Long and Complicated Loan Process

IV. Awareness of Borrower

Options:

(A)  Only I, II and IIT are correct.  (B) Only II, IIT and IV are correct.
(C)  Only I, II and IV are correct. (D) Only I, IIT and IV are correct.

11. By which organization is the Human Development Report published ? 1
(A) World Trade Organisation
(B) Amnesty International
(C)  United Nations Development Programme
(D)  World Health Organisation

12. Identify the odd one out. 1
(A) Hindustan Computers Limited
(B)  Bharti Airtel Limited

(C) Hindustan Unilever Limited
(D) Bharat Heavy Electricals Limited

13. Choose the correct option to fill in the blank : 1

The process of removing barriers on foreign trade and investment by the

government is known as
Options :

(A)  Import Tax

(B)  Export Tax

(C)  Liberalisation

(D) Industrialisation
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14. = & %o fer & | afirepe (A) 3 RO (R) ® | @FF el Wl afey 3T
el foeored &1 =R FifST .
HAHIT (A) : VR § STHIR T8 IANT T AT % 2 T TH Hohll q@ar |
AT R |
FRU(R) ;WA YE 1 qHU wrgl Frrfaeh 2 |
foaremea

(A) (A 3R (R) 3HI & & 3R (R), (A) I 98 A&7 |

(B) (A) ¥R (R) 3HI €&l 8, W (R), (A) I Gl AT 8T © |
(C) (A "Ee, wq (R) T & |

(D) (A Tad e, W (R) W&l |

15. WY I & &9 11 9 e i 3t g2t foehe 1 == i :

@y I &y II
a. IR IS qgIfaer i IS
b. THE S i,  TSEE
c. UiER e e iii.  oTem
d. e TSI 3TH iv. &
foreea :

(A)  a-i, b-ii, c-iii, d-iv
(B)  a-ii, b-iii, c-iv, d-i
(C)  a-iv, b-i, c-iii, d-ii
(D)  a-ii, b-i, c-iv, d-iii
16.  fiwdl HfeT, U4 GRER & 9y, SHF % Zhs I W6 Fleh 3@ T AU IRER

F WO % fAT A I 3T @ oS ST ® | ST gaT i 9T & @l
St ®, @ 98 F % A0 qfd w1 e gHST TR Fdl § | a9 frefataa & @

iy ¥ e fafer o1 3w et 2 2
(A) VI FHY

(B) o 3T T& i

(C) & Sitfereht i

(D)  aforSae: iy
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14. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option : 1

Assertion (A) : Most of the jute industry in India is located in a narrow
belt along the banks of Hugli river.

Reason (R) : India is the second largest exporter of jute.
Options :

(A) Both (A) and (R) are true and (R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).

(C) (A)1is true, but (R) is false.
(D) (A)is false, but (R) is true.

15. Match Column I with Column II and choose the correct option : 1
Column I Column I1
a. Sariska Wildlife Sanctuary 1. Uttarakhand
b. Manas Tiger Reserve ii. Rajasthan
c. Periyar Tiger Reserve iii. Assam
d. Corbett National Park iv. Kerala
Options:

(A)  a-i, b-ii, c-iii, d-iv
(B)  a-ii, b-iii, c-iv, d-i
(C) a-iv, b-i, c-iii, d-ii
(D) a-ii, b-i, c-iv, d-iii
16. Mrs. Monica, along with her family, clears a piece of land and grows
grain and other food crops to feed her family. When the soil’s fertility

decreases, she prepares another piece of land for agriculture. Which of
the following methods of agriculture does she use ? 1

(A) Plantation farming
(B) Slash and burn farming
(C) Intensive subsistence farming

(D) Commercial farming
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17. @icied! Trareal % IAUS H fohg ST % shieret J SuiERt W i s #

amt e fhar 2
(A) &
(B) ==+
(C) difer
(D) HaAfEm
18.  SHMAT ®UF & Fed § qorar W faudt Siq Sl fefaiaa 7 @ free
Tl oft 2
(A) 3T e
(B)  sRTgdr T 3rieh AT
(C) it <t =T 6t

(D) Tk T o GAUT

19. fi=fafad & @ fre gam=m-T &1 g9y o1 e foores 4 2 2

A)  fegE
(B)  SIivedT qireht
(C) sy
(D) &l
20. FAfARad UfeTées werell s HITHHITER saafed hifve 37wl foshed
W‘Oﬁﬁm:
I SR wcanE

II. e admus
III. <YRI 9Is
IV. WS

ferehea :

A LILIIL IV
(B) IILILLIV
C©) I, LIV, III
(b)) MHOLIV,III
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17. The germs of which disease paved the way for Europe’s conquest of
America in the later half of the sixteenth century ? 1

(A)  Cholera
(B)  Smallpox
(C) Jaundice
(D) Malaria

18. In reference to the Germania allegory the “olive branch around the
sword” symbolizes which one of the following ? 1
(A) Being freed
(B) Heroism and strength
(C) Willingness to make peace
(D) Beginning of a new era

19. Which among the following newspapers is related to Bal Gangadhar
Tilak ? 1
(A) Hindustan
(B) Bangla Patrika
(C)  Veer Bhoomi
(D) Kesari

20. Arrange the following historical events in chronological order and choose
the correct option : 1

I Bardoli Satyagraha

I1. Rowlatt Satyagraha

III. Champaran Satyagraha
IV. Kheda Satyagraha
Options:

A LILIIL IV

(B IOLILILIV

(C) ILILIV,II

(D) I IV,ILI
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21.
22.
23.

24.

25.

26.

27.

28.

29.

30.

#
T &
(et erg-Iwda ) (4x2=8)
WA T oW foed € % foheal &1 AT TTET T Ieeid T | 2
IRA & Hedf o TaT T TSR & Feater faawor i Iaeasiadr #f A hie | 2
(%) Yk Hq&r i bl A foriwaradl st quiw i | 2
3T
(@) ‘o gar i fheel a1 fomiwarett &1 auie HifvT | 2
1947 — 1991 & AT WRG TR 7 faesft =R vd faasft fewr = Hifga =i
fopam 2 Taee ShifST | 2
@ug T
(Y37 T9) (5x3=15)
(F) WA AT HoY 9 - SHEid o T 7 Ry Hifg | 3
T

(@) wRdT T Sieier § ool Hawm TSt vfierr w1 fovewor v | 3
oo T8 wEleRr S A w1 R TR wwifad fRm § 2 T

HIT | 3
Al fohd TR Teh STeET, [SFeR 31T 3y Y ot TATYAT ohidl & 2 ATl
HIT | 3
<A Sept W FRET Ted § aRdy fee S e weeut fieer e @ 1
Y HY HI ATIETT 38T | 3
“Sheg, TR SR ST TIHN o St T TSI WA Wlae i Jiamar s
17 IRIE qehl Hied 36 FHUT HT ITeror HIWT | 3
us g
@Erd-30a ) (4x5=20)
(%) “Tfsd T&aH Pl ot TS o Gt AT IcwTied 81 o |17 Wiered! Idredt
FT % IS o AW § T6 HF hl AT HIfT | 5
AAAT

(@) “wedl Amedt o, = # R A F - § DU % AT H
oY farfererar a1g 1 Serewon wfed 3@ we il ST Fifs |

5
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SECTION B

(Very Short Answer Type Questions) (4x2=8)
21. Mention any two economic impacts of the First World War on India. 2

22, Explain the effectiveness of vertical distribution of ‘power sharing’ in the
context of India. 2
23. (a) Describe any two features of ‘arid soils’. 2

OR

(b)  Describe any two features of ‘forest soils’. 2

24, Why did the Indian Government restrict foreign trade and foreign
investment between 1947 — 1991 ? Explain. 2

SECTION C

(Short Answer Type Questions) (6x3=15)

25. (a) Analyse the impacts of Gandhi-Irwin pact on the Indian freedom
struggle. 3

OR

(b)  Analyse the role of Alluri Sitaram Raju in the Indian National
Movement. 3

26. How have industrialisation and urbanisation impacted water supply ?
Explain. 3

27. How does democracy establish an accountable, responsible and legitimate
governance ? Explain. 3

28. “Reserve Bank of India plays a crucial role in regulating the Indian
banks.” Justify the statement. 3

29. “Sharing of power between the Union Government and the State
Governments is basic to the structure of the Indian Constitution.”

Analyse the statement with suitable arguments. 3
SECTION D
(Long Answer Type Questions) (4x5=20)
30. (a) “Not everyone welcomed the printed book.” Explain the statement
with examples from sixteenth century Europe. 5
OR

(b)

I 39/3/1

“By the seventeenth century, the flourishing of urban culture in
China also led to diversity in the use of printing.” Explain the
statement with examples. 5
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31. (%) ¥R WA 3 HY & &F H HEANd gUrl 8] F© g AWG@ Ry
& | TR HT UH HIE 9i9 ST AT GEAT S FN & f&q 7 2 | 5
T

(@) A ST o s fhem & | 319 ard | e i @dt e =@med © |
Tt forrgl A imiforeh qumel o1 Ui ST ST IRG § a1ad i 6
T 3T Bt wd 9Rd o & =Tee Scuree SOl TAt O AW faRaw | 3+2=5

32. (%) “ouiRUSTar WRAE Efaae H g S e 1 A B I ANl 5

3T
(@) ¥ sl <Afireh GHTAT bl EATUd A 8 I3 i U G1sT | 5
33. (%) AJ¥TwT & WS Ua ST &5eh T IeTedvl afgd 3t T i | 5
=T

(@) =W S AT A i % wee § | e sfdiEd USTR % geH eq
A HH-H gorra < fored arefior g & et st sisd 6 g
& I ST Hoh ? 5

TWIE T
(hE/ETA-ATTHE T9) (3x4=12)

34. fou U A i ufew 3k 3o = fow T aeA & S i
EQIGEAN

1815 % W1& % a9l § THT & W 7 3T ISNATSI-Tganiedl i qiHTa
foa | sga W O TSAr o shifdeRTEr TR o SR fSem # e S
% [T T WMeT IW AT | 3@ WA AR B KT AdES I TSI
STt o7 oY T o7 S fogay i & o wnfva i TS off | | &
AT 3R AqfE & T Tiderg ST ST o ST ikl 8 % g ST o |
SATETAL Shifdeh it TSE-TSAT oht TATOAT sl AR o 30 Goy 1 A fewm

AT o |

(34.1) IeraTteat s fore) Wk TeiHiferer 71T 1 Seai@ hHIfSTT | 1

(84.2) U TSAT H [ HISHAT o I8 o TG FHRT FHT Ieei@ iy | 1

(34.3) 1815 % W13 Ieh ISNATEI-USZATCAT % HWTd B % HRON H1 fageisor
HITTT | 2
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31. (a) The Government of India has invited some suggestions for
institutional reforms in agriculture. Propose any five institutional
reforms to the Government for the betterment of agriculture. 5

OR

(b)  Suppose you are a farmer. You want to cultivate rice in India.
Describe any three geographical conditions which will be suitable
for rice cultivation in India and write the names of two leading rice

producing states of India. 3+2=5
32. (a) “Secularism is the very idea of Indian Constitution.” Justify the
statement. 5
OR
(b)  Suggest any five measures to establish the gender equality of
labour. 5
33. (a) Distinguish between public and private sector of economy with
examples. 5
OR

(b)  Suppose you are the Sarpanch of your village. What suggestions
will you give for creating additional employment in the village, so
that the problem of unemployment of the residents of rural areas
can be reduced ? 5

SECTION E
(Case/Source-Based Questions) (3x4=12)

34. Read the given source and answer the questions that follow :
The Revolutionaries

During the years following 1815, the fear of repression drove many
liberal-nationalists underground. Secret societies sprang up in many
European states to train revolutionaries and spread their ideas. To be
revolutionary at this time meant a commitment to oppose monarchical
forms that had been established after the Vienna Congress, and to fight
for liberty and freedom. Most of these revolutionaries also saw the
creation of nation-states as a necessary part of this struggle for freedom.

(34.1) Mention any one political demand of the liberals. 1

(34.2) Mention the main cause for the rise of secret societies in European
States. 1

(34.3) Analyse the reasons for many liberal-nationalists going
underground after 1815. 2
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35. fdu T @q = ufgu oK U A= fu U gwAt & 3 i
g Taeh

e 3T T AR @S & qu7 i faem &t 8¢ & | wia |
e 31k % g dered feme § | aRa 399 Hfe % AeiwgEd | e §
ot ¥ | BHTEE FaTH YR T die 3%k & fSed 70 gfawa i 3= aen 8§
T ST € | S S9SS g O B 8, S R Sa # foriy w9 8 vt
& | BHeTSe Haitersh wewul HIefeh cie s1aeeh & okt stfersham 7 # 3w
BT €, Tohq 30W BT 1 AT Aerse i AYaT ASh-E H Bl & (390 AR
50 T 60 TTASTId b UTAT SITAT 8) | 99 2018 — 19 W g 7%=k ol IV T
I (97%) AR, TAETE, FAleh A ALES ¥ el 3T | AW Icurad
(3%) 1= TAT | AT o7 |
(35.1) fora <iE Ta%h U Gaiferes s I ST 2
(35.2) Tdifereh HEwIqUl HIENTeh THIE S HIF-8T 8 2

(35.3) “TIIE 3TIEH Ueh AATITOT @IS & | T8 e hl I8 HifT |

36. ToU T g 1 uley AR ek A= fow Tu w3 iR
TITSa &k

T TITST &k T 1T Hdl & | TS &k H o ITH AUYAT 1L
a7 & el TS skt wrafer i Bt @ i safere & o o giHivea wm
BT 8 | I & R ENT USiohd I & AR 3 it et we fafwmt w6
A FET BT € | 1 et @ [t s ke S — s
aﬁﬁm A AN AT, FegEH A, R T T sitfEm,
Sﬂﬁﬁmmwélsﬁw &k qosd%crquqoswﬁwsﬁq%lﬁ‘eﬁ
W@Wﬁ%ﬁmélﬁﬁwaﬁv%ﬁ@%mﬁﬁﬁﬁﬁ@ﬁmém

HH F Ghd 8, T 3o ol T A TR ¥ e USiiehd HUAT BT & 3R
et we farfemt s STuTe e g 2 |

(36.1) TS &k <l h1a SN bl forell e faiwdT shT Soci@ shifeTT |

(36.2) TS &k o SHHSTRT bl e gRT e ater forelt weh Ay i T
i |

(36.3) TI-USH 4 S[¢ G AT TN bl TLHR o AHET GSTHT0T HLATHT T SIS & 2
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35. Read the given source and answer the questions that follow :
Iron Ore

Iron ore is the basic mineral and the backbone of industrial
development. India is endowed with fairly abundant resources of iron ore.
India is rich in good quality iron ores. Magnetite is the finest iron ore
with a very high content of iron up to 70 per cent. It has excellent
magnetic qualities, especially valuable in the electrical industry.
Hematite ore is the most important industrial iron ore in terms of the
quantity used, but has a slightly lower iron content than magnetite
(50 — 60 per cent). In 2018 — 19, almost the entire production of iron ore
(97%) accrued from Odisha, Chhattisgarh, Karnataka and Jharkhand.
The remaining production (3%) was from other states.

(35.1) In which iron ore is the maximum iron content found ? 1
(35.2) Which is the most important industrial iron ore ? 1
(35.3) “Iron ore is a basic mineral.” Support the statement. 2

36. Read the given source and answer the questions that follow :

Organised Sector

Kanta works in the organised sector. Organised sector covers those
enterprises or places of work where the terms of employment are regular
and therefore, people have assured work. They are registered by the
government and have to follow its rules and regulations which are given
in various laws such as the Factories Act, Minimum Wages Act, Payment
of Gratuity Act, Shops and Establishments Act, etc. It is called Organised
Sector because it has some formal processes and procedures. Some of
these people may not be employed by anyone but may work on their own,
but they too have to register themselves with the government and follow
the rules and regulations.

(36.1) Mention any one feature of the working conditions of organised
sector. 1

(36.2) Explain any one benefit provided by the employers to the
organised sector employees. 1

(36.3) Why is it necessary for all self-employed people to register with the
government ? 2
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LCLERs ]
(AT ShI9TeA-SATATRA o) (2+3=5)

37. (%) wRa ¥ fu Tu usHifas wEraEt (75 23 w), ¥ 3 TET @ A7 ST
‘B & ®q U 2Afha fopar mm 8 | F=feifeq Smeedt &t @emar 4 3=
TEATNT 3 3 Hal A1 I FHiT T 78 et w fafey 2x1=2
A, I8 T SR 1927 ¥ WRAT TS g 1 SRETH 3T o7 |
B. 9% T T8l HETcHT et ¥ =Heh 1T dsT o |

e : (HEfIad Yo7 Fae grEaTtea qqeieral & fo7q Yo7 €&1 37 () & T W 3 |

(%) () @ WA & 9m fafee @ 1927 & 9wd TT FOG w5
HTAT gAT T |

(i) 39 T 1 A fARaw ST et et 7 FHe I arst o | 2x1=2

(@) wRa % 36l TsHifas wraEt #, fefafead & @ G a3 sage

gt @ Ty 3k Ik T fofa 3x1=3
() ol S o U AU gaTs uae

(ii)  Icoh T Toh HIFEAI SIS UTeh

(i)  TERTSg H feord wep snifvaesh et wie

(iv) ST T Tk @ wHET o

TIe : FHliaa To7 Fac grEariera qaerieral & o Iv7 981 37 (@) % €I W3 |

(@) forel a7 gt & s fefau | 3x1=3
i) 3" A # T fafae St ufdm s § v Sl g s uwe
Jafed R |
(i) 39 M @1 A0 AT &t FAlcHh T T GIReaT SHarS Teh
Jafed R |
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(i) 38 T H1 9 fafen =t aerse o s Aifvas St @i TaRkud ® |
(iv) 38T 1 AW fafeu St Siife & us T 9 oo AaReq & |
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SECTION F
(Map Skill-Based Questions) (2+3=5)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 23). Identify them with the help of
the following information and write their correct names on the
lines drawn near them : 2x1=2

A. The place where the session of Indian National Congress was
held place in 1927.

B. The place where Mahatma Gandhi broke the Salt Law.
Note: The following questions are for the Visually Impaired Candidates
only, in lieu of @. No. 37 (a).

(a) (1) Name the place where the session of Indian National
Congress was held in 1927.

(i1) Name the place where Mahatma Gandhi broke the Salt Law. 2x1=2

(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3
1) An international airport of West Bengal
(i1) A software technology park of Karnataka
(iii)) A nuclear power plant located in Maharashtra
(iv) A major sea port of Odisha

Note : The following questions are for the Visually Impaired Candidates
only, in lieu of @. No. 37 (b).

(b) Attempt any three questions. 3x1=3

(1) Name the place where an international airport is located in
West Bengal.

(i1) Name the place where a software technology park is located
in Karnataka.

(iii) Name the place where a nuclear power plant is located in
Maharashtra.

(iv) Name the place where a major sea port is located in Odisha.

I 32/3/1 Page 21 of 23 P.T.O. I






e

=
U9 G, 37 < feru

#

For question no. 37

WA T TSI deh (@T-UH R
gy Political Outline Map of India

L PV S
£ & LR P Wy

i 7 4 ,
2 b ey
A £
i ; 3
7N
{ o
e 1o
2 b
S
3 b
2
"% ¥
:{ {
T ‘-

&m Siezabe 1,15000, 000 (]
100500 100 200 300 400 500
[ — ——

32/3/1

Page 23 of 23



